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Algebra 1 Semester 1

Assessment Training Practice #2A

1.) Which of the following is a solution to the function f(x) = -gx - 6 ? Show work for each
choice.
@) @ 5 T
oL - -5 =5
-0 = "& ’é )G
-6 = |- _
Bo06 |,y - False.
Lo -4(0)-b  G7G
b= 0~
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2) Which of the following is a solution to the function f(x) = 3x + 4 ? Show work for each

choice.
){;2:%2%_&)“7, o0, = - Fo/Se
A=+
, :_(05)(0>+‘/ ¥ 5 4/ True,
<= 0r4



3.)

List 5 of the infinite number of solutions to the graph. What is the slope of the line?

Solution 1: ( O ﬁ‘) JAN ﬁ

Solution 2: (/ ) Lﬁ) .
Solution 3: C;:; 8> ’
Solution 4: \" 7, O ; /
Solution 5: (13/, 72/) 2
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Time | Distance
(Hours) | (Miles)

643 e 253 168 = 87
§-43 e 33~ A5R= 8Y
/10-8:=4 < 10 220 DYA0-336 = 87

Sa.) The rate of change is constant in the table above. Find the rate of change and show your

rise 89 The rate ﬁ%”’mm/g,

work.

run ol /S SR miles o frou
- 42

Sb.) Explain what the rate of change means for the situation.

The, Y3 miles [)@ﬁﬁmf means thal Someone.,

Gravels a distance, of 42 miles for cach bous

5c.)  What is the y-intercept for this data? Show how you determined the y-intercept.

4;; mx+b (4 168) M =4

YA(Y) +b 7he ¢ -mntercept
/68 - /@M)b A FC
/68 168
O =5

5d.) Explain what the y-intercept means for this situation.

The, ¢ 4 mé@f&wé of O means that at O fours,

é/‘)é f’//u oance. zém f/@/w/ was 0 /7/7//66'

5e.) Write an equation to model this situation: (/ = 3’0?%




This graph shows how the amount of dough Jessica has prepared is related to the number of
hours she has spent working at the bakery in a 40 hour week.
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6a.) Find the rate of change and show your work.

ree. 80 & {{7 00/ Hou!”

/{ - o~
/‘L/: /] Vi {:j
6b.) Explain what the rate of change means for the situation.

£aCh hourt, Lhe, bakers orepared A Al ? of

adoliah. </

U

6c.) What is the y-intercept for this data? Show how you determined the y-intercept.

L=0 The u/“a/)A INBESECTS ENEs Ly QS
at 0 J

6d.) Explain what the y—mtercept means for this situation.

The wmééfcm‘é ot @ O) m2aNS ats Olou’'s,

O /Toumf 0/00/5/) was pregar ed.

6e.) erte an equation to model this situation: (/ ﬁ%




The graph shows the height of a plant over a 2-month growth period.
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7a.) Find the rate of change and show your work. 7
(0, 2) (OO /\ﬁj /7] = /Zﬂ"oz 30

&0-0
& /4 -z of & Cm
M= L 0
&0 e &?’@

7b.) Explain what the rate of change means for the situation.

The. plant greu) at a ratc, 0?0/50/()/@6 of 50

ofa om x%ﬁa’ézjﬂ

7c.) What is the y-intercept for thls data’? Show how you determined the y-intercept.
(0,3) The g (7//75 ot K cm beitore, thHC,
90 /7 wg& 7ecoraed.

7d.) Explain what the y- intercept means for this situation.

The, ,a/méé mitl Aé/é}%t& as Acm betore, AhE.

é//‘f%d?f/y £aS LECOrae ,0/

7e.) erte an equation to model this situation: O/ 60 % + 0/2/




The graph shows the height above the ground of a rock climber over time.
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8a.) Find the rate of change and sh>>w your work.

(O}% (/50 m=0-70 = "0

%;é’/! L /@O“ O | 7
/7/) = -_@n g? /7
| /8 /@&Fﬁc‘/’(ﬁm(/’?/

8b.) Explain what the rate of change means for the situation.

The roch @//mééﬁ chimébed clown atha rate of
Lhanat of A5 m per second

8c.) Whatis the y-intercept for this data’? Show how you determined the y-intercept.

(0,%0) Tht. ffw/o begs ot (0 %0)

8d.) Explain what the y-intercept means for this situation.
¢. rOCK Climber started ats 0 meters above.
f/}é Qf}fm/}d betore. A@/&ﬁ& cSzfcz/‘zﬁ&ﬁ/ bo Climd

8e.) erte an equation to model this situation: U ;b 7 %O




9.) The population of Dearborn in 2000 was 97,842. By 2010, the population had decreased to
84,962. Assume that the population of the city has decreased linearly since 2000 and will

continue to decrease linearly. Using 2000 as year zero, write an equation to model this
situation.

9a.) What is the y-intercept? Show how you determined the y-intercept.

Sinee. the pz"ob/*’n’) dczu@ b0 USe. Lhe qear
2000 as year géro, CHen é/wj L CEPE AS
(0, 71640)

9b.) What does the y-intercept mean in this situation?

10 the initial wear of 2000 when the dota

collection beash . the. Oopulallin was 77 £
Q0 aéj car O %ﬁ@(ym/o/; é@e?cm at 97, 895,

9c.) What is the slope? Show how you determined the slope.

( 9, 92,,5 /2) (QZO) Xﬁé‘y)

S . TEre. LWas
§9905 - 9789 /RAEEO 4 Jrss of

/0 ~O /O /528?00/05;?3/’&,»
- /A28 per gear

i

9d.) What does the slope mean in this situation?

Lach yeal The population decraased by /A2L
el é/&iﬁ &f

9e.) Wirite an equation to model this situation: <(// - -/ﬂfg% 7 97f 5/07




10.)  Mr. Crabs is counting his money after a week’s worth of business at the Crusty Crab. He
found after having a sale on Crabby Patties he had 5 visitors and had $99.00 in his vault
and on another day he had 8 visitors and had $129.00 in his vault. Create a linear equation

that represents this situation.

10a.) What is the slope? Show how you determined the slope.

¢ Y.
X Y %z /'O oer visitol
/39-79 S0
(?"’5 - W,

= /0

10b.) What does the slope mean in this situation?

Lach Visitor SpENdS (g/O ot C/z:/&é/a orab

10c.) What is the y-intercept? Show how you determined the y-intercept.
m=/10 (5,97)
-mx+h b=97 |
- /0-5 b The, 0/“@/;0/7 coould @éQ/C
b L WIS TOLS
79= Q0% ats %9 betore any
o 90 arrvéd >,

49 =4

10d.) What does the y-intercept mean in this situation?

£ _ ,
Thes y-intercept of ¥9 means that the. vau /G
hod V¥ i it bedere. an, wISILors arrved.

/
10e.) Create a linear equation that represents this situation: {/ = /O% 7 7/9



